Quizizz

CLASS:
Homework 7.3 due Mon 3/22 *3 Problems Require
Work* DATE :
10 Questions
1. WORK REQUIRED: Show the Big X and the trinomial
factored!
Use factoring to solve: 222 — 2z — 15 =0
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2. WORK REQUIRED: Complete factors must be shown!
Solve: 5z? —45 =0
[Ja z=3 [ b) 2=-3
0o z=3and z=-3 d 2=0,z=3,and z=—3

3. Factor completely to determine the two factors of
32+ 7z —6=0

[] a) (x-3) 1 b) (x+3)
(1 ¢ 3x-2) (1 d) 3x+9)
(1 e) (x-6)



4.
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Factor completely to determine the two factors of
22+ =6
a) (2x-3) L] b) (x+2)
) (2x +4) (1 d) (x+3)
e) (2x-1)
Solve: 4z + 15z +14=0
a)azzzanda:=2 Db)mz—zandw=2
C)a::Zand:c:—2 Dd);l::—zand:e:—2
WORK REQUIRED: Factor a GCF and then use the Big X
Solve: 0 = 3z — 12z — 15
a) x=-5and x =1 [I1b) x=5and z=—-1
A x=0,z=5,and z = —1 0d £g=—-5and z = —1
Solve: 2z2 —32=0
a) t=0,x=4,and z = —4 [1b) x=14
Q0 x=-4 [1d) =4 and z=—4
Simplify: (2z° + 3z —4) + (Tz — 12)
a) 222 + 4z — 16 [0 b) 22% + 10z — 16
A 222410z — 8 I d) 222 + 10z + 16



9. simplify: (8y* —7Ty—1) — (v* —y+12)

O a) 742 — 69> — 13

] ¢ 7y2—8y+11

10 Simplify: (3z + 5) (2z — 7)
O a) 622+ 3z — 2

0 o 622 —11z — 35

L1 b)
L1 d)

L1 b)
)

Ty* — 6y — 13

Ty* + 6y + 12

53:2 — 31z — 35

—17z — 35



